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SODIUM THIOSULFATE,0.025N,4LITRE W2252

IODINE SOLUTION  .025N    1L W2261

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report
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1 PB105344BL 50 15:3512/26/20170.004.804.800.005.005.031 0.000.20

2 PB105344BS 50 15:3812/26/2017200.002.282.280.005.005.041250 2.522.72

3 I7064-01 50 15:4212/26/201752.594.144.140.005.005.021 0.660.86

4 I7064-01DUP 50 15:4512/26/201754.184.128.264.145.005.021 0.680.88

5 I7064-01MS 50 15:4812/26/2017178.132.562.560.005.005.031250 2.242.44

6 I7064-01MSD 50 15:5212/26/2017179.722.545.102.565.005.031250 2.262.46

7 I7064-03 50 15:5512/26/201738.174.324.320.005.005.031 0.480.68

8 I7064-05 50 15:5812/26/201731.874.404.400.005.005.021 0.400.60

9 I7064-07 50 16:0212/26/201755.564.108.504.405.005.041 0.700.90

10 I7064-09 50 16:0512/26/201759.084.064.060.005.005.011 0.740.94

11 I7064-11 50 16:0812/26/201777.623.827.884.065.005.051 0.981.18
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 I7064-13 50 16:1212/26/201763.624.004.000.005.005.031 0.801.00

13 I7064-15 50 16:1512/26/201781.443.787.784.005.005.011 1.021.22

14 I7064-17 50 16:1812/26/201771.573.903.900.005.005.031 0.901.10

15 I7064-19 50 16:2212/26/201776.653.847.743.905.005.011 0.961.16
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


